Suppose that b is a vector of magnitude 3, and d is a vector of magnitude 2, SCORE: /3 PTS

and the angle between b and d is 57” radians. Fill in the blanks.
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Fill in the blanks. GADED BY M= SCORE: /6 PTS

NOTE: For each part (ie. [a], [b], [¢]), you must fill in all blanks correctly to receive any credit.

[a] Ifplane g0, is perpendicular to plane (9, , thenthe NOEMAL~  vector of pfane P, is_PERPEND) Ao the

NOYZL A A~ vector of plane 2, .

[b]  Ifline £, is parallel to line £, then the 1> J2EC T OF _vector ofline £, is PPR2ALLEL (o the

DIREZTION)  vector of line £

[c] If line £ is parallel to plane o, then the D)Q@TJO\J vector of line £ is FPEF2PENOICILAG, the

NORMAL  vectorof plane ¢o.




Fill in the blanks. @ SCORE:
’___-5

[a]

[b]

[c]

If (i % ¥) i = — 12, then ii - (¥ x #) = “']'2_j@i(uw\/ N

If %,V and X are adjacent edges of a parallelepiped, and # x ¥ = <3, =2, =5 > and ¥ =<1,-3,3 >,

then the volume of the parallelepiped is é ] O ( CU Y\/ )_' ~ 3 + 6’15]

/4 PTS



Let P be the point (-5, —1, 3).
Let O be the point (—4,1, 4).

Let R be the point such that PR = 3/ + 2k .

[a]

[b]

[e]
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Find parametric equations for the line which is parallel to

(x+5) - l(jﬁty»\l) r AU z-T) =0

P 7% [ |

Find the angle between the plane in part [b] and the plane 3x+ y +2z=7.
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1 12-2+6]

e
@3”% = cos”
g

S is a point such that POSR is a parallelogram. Find the area of parallelogram POSR .

%G~ FEll= 14,2,25= 114"

Fmd a vector of magnitude 3 perpendlcular to both P_Q. and ﬁ
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